

EXTENSIONS OF VECTOR BUNDLES WITH APPLICATION TO NOETHER-LEFSCHETZ THEOREMS

G. V. RAVINDRA AND AMIT TRIPATHI

ABSTRACT. Given a smooth, projective variety Y over an algebraically closed field of characteristic zero, and a smooth, ample hyperplane section $X \subset Y$, we study the question of when a bundle E on X , extends to a bundle \mathcal{E} on a Zariski open set $U \subset Y$ containing X . The main ingredients used are explicit descriptions of various obstruction classes in the deformation theory of bundles, together with Grothendieck-Lefschetz theory. As a consequence, we prove a Noether-Lefschetz theorem for higher rank bundles, which recovers and unifies the Noether-Lefschetz theorems of Joshi and Ravindra-Srinivas.

1. INTRODUCTION

We work over an algebraically closed field of characteristic zero, which we denote by \mathbf{k} .

One of the most fundamental results in algebraic geometry are the *Lefschetz theorems* which state that if Y is a smooth, projective variety and $X \subset Y$ is a smooth member of an ample linear system, then the Picard groups of Y and X are isomorphic provided $\dim X \geq 3$; when $\dim X = 2$, the same is true, if in addition, we assume that X is a *very general* member of a *sufficiently ample* linear system. These theorems imply in particular, that any line bundle on X extends to a line bundle on Y . From this point of view, one may ask if there are analogous results for higher rank bundles.

Let L be an ample line bundle on a smooth projective variety Y , and X be a smooth member of the associated linear system $|\mathbb{H}^0(Y, L)|$. For $k \geq 0$, let X_k denote the k -th order thickening of X in Y , so that $X_0 = X$. The obstruction for a bundle E on X_{k-1} to lift to a bundle on X_k is a class $\eta_E \in \mathbb{H}^2(X, \mathcal{E}nd E \otimes \mathcal{O}_Y(-kX)|_X)$ (see §2). Clearly, the vanishing of these classes is a necessary condition for E to extend to the ambient variety Y . The fact that these classes depend on the bundle E is one of the main points of departure when we study extension questions for higher rank bundles; when E is a line bundle, $\mathcal{E}nd E \cong \mathcal{O}_X$, and so the obstruction classes do not depend on the bundle *per se*. Consequently, one cannot hope to get a uniform result for *all* bundles of any given rank.

Another noteworthy point when studying higher rank bundles is that even if these obstruction classes vanish, in most cases the bundle extends only as a reflexive sheaf on Y , and would need to satisfy additional conditions in order for the extension to be a bundle. Consider for example, the inclusion $\mathbb{P}^n \hookrightarrow \mathbb{P}^{n+1}$, and let $\pi_x : \mathbb{P}^{n+1} \setminus \{x\} \rightarrow \mathbb{P}^n$ denote the projection map for $x \in \mathbb{P}^{n+1} \setminus \mathbb{P}^n$. Since the composition $\mathbb{P}^n \hookrightarrow \mathbb{P}^{n+1} \setminus \{x\} \rightarrow \mathbb{P}^n$ is the identity map, the pull-back bundle $\pi_x^* E$ for any bundle E on \mathbb{P}^n is an extension of E on the variety $\mathbb{P}^{n+1} \setminus \{x\}$. Even if $\pi_x^* E$ extends to a bundle on \mathbb{P}^{n+1} , note that there exists an $N > n$ such that E does not extend to a bundle on \mathbb{P}^N . For if this were to be so, then by the *Babylonian theorems* (see [1] for the rank 2 case, and [18] for arbitrary rank), E would have to be a sum of line bundles.

The following result (see also [6]) summarises the discussion above.

Theorem 1. *Let Y be a smooth, projective variety of dimension at least 4, and $X \subset Y$ be a smooth, ample hyperplane section. Let E be a bundle on X satisfying the property that $H^2(X, \mathcal{E}nd E \otimes \mathcal{O}_Y(-kX)|_X) = 0$ for all $k \in \mathbb{Z}_{>0}$. Then there exists a Zariski open set $U \subset Y$ containing X and a bundle \mathcal{E} on U such that $\mathcal{E} \otimes \mathcal{O}_U \cong E$.*

When Y is a threefold, we have the following result.

Theorem 2. *Let Y be a smooth 3-fold and $X \subset Y$ be a general, ample hyperplane section of Y . Let E be a bundle on X such that the “multiplication” map*

$$(1) \quad H^0(X, \mathcal{E}nd E \otimes K_X(a)) \otimes H^0(X, \mathcal{O}_X(b)) \rightarrow H^0(X, \mathcal{E}nd E \otimes K_X(a+b))$$

is surjective $\forall a, b \geq 0$. Then there exists a Zariski open set $U \subset Y$ containing X and a bundle \tilde{E} on U such that $\tilde{E} \otimes \mathcal{O}_U \cong E$.

When E is a line bundle, the above result yields the *Formal Noether-Lefschetz theorem* proved in [17]. Using our formalism, and a remark by M.V.Nori, we are also able to prove the following version of the Noether-Lefschetz theorem for divisor class groups (compare with the result of [17]) which generalises the main result of a paper of Joshi [12].

Theorem 3. *Let Y be a normal projective 3-fold over k , $\mathcal{O}_Y(d)$ be an ample, invertible sheaf such that the linear system $V := H^0(Y, \mathcal{O}_Y(d))$ is base point free. Let X denote a very general member of $|V|$ and, $\pi : \tilde{Y} \rightarrow Y$ and $\tilde{X} := \tilde{Y} \times_Y X$ be the desingularisations of Y and X respectively. Assume further that,*

- (i) $H^1(\tilde{Y}, \Omega_{\tilde{Y}}^2 \otimes \pi^* \mathcal{O}_Y(d)) = 0$.
- (ii) *The multiplication map*

$$H^0(Y, \mathcal{O}_Y(d)) \otimes H^0(Y, K_Y \otimes \mathcal{O}_Y(d)) \rightarrow H^0(Y, K_Y \otimes \mathcal{O}_Y(2d))$$

is surjective.

Then the restriction map of divisor class groups $Cl(Y) \rightarrow Cl(X)$ is an isomorphism.

1.1. Outline of the proof and some remarks. Given a bundle E on a smooth hypersurface $X \subset Y$, we suppose that we have been able to extend it to a bundle E_{k-1} on X_{k-1} , the $(k-1)$ -st order thickening of X in Y . Then the obstruction for E_{k-1} to lift to a bundle E_k on X_k , is an element of the cohomology group $H^2(X, \mathcal{E}nd E(-kX)|_X)$. Thus we see that if the hypothesis of Theorem 1 is satisfied, then the bundle lifts to $X_k, \forall k > 0$ and so we have a projective system of bundles $\{E_k\}$. Let \hat{E} denote the inverse limit of this system; then \hat{E} is a formal vector bundle on \hat{Y} . The conclusion then follows from Grothendieck’s Lefschetz theory (see definition 2, section 4).

When Y is a threefold (so X is a surface), by Serre’s theorems, $H^2(X, \mathcal{E}nd E(kX)|_X) \neq 0$, for $k \ll 0$. The assumption that E lives on a “general” hypersurface X implies that the obstruction classes for E to deform to a “nearby” fibre X' in the universal family $\mathcal{X} \rightarrow S$ are all zero. This implies, by the hypothesis of Theorem 2, that the obstructions for E to extend across infinitesimal thickenings also vanish. The conclusion again follows by Grothendieck-Lefschetz theory.

As mentioned above, Theorem 3 recovers the theorem of Joshi [12] when X is smooth, and L is sufficiently ample. The idea of the proof in both the theorems is the same: first one proves the so-called *infinitesimal Noether-Lefschetz theorem* (INLT), as stated in [14] (see also [5]), and then one uses this and a standard “spreading out” argument to prove the *global* Noether-Lefschetz theorem. The difference in the two proofs is in the proof of the infinitesimal Noether-Lefschetz theorem (INLT): while in *op. cit.* this is achieved by showing that if the first Chern class of a

line bundle L , on a smooth fibre X , $c_1(L) \in H^1(X, \Omega_X^1)$, in the universal family $\mathcal{X} \rightarrow S$ deforms to a neighbouring fibre X' , then it lifts to the first Chern class of a line bundle \mathcal{L} on the ambient 3-fold Y . This is where both the hypotheses are used. While we further break up the proof of INLT into two steps: in the first step, we show that if a line bundle L on X deforms to a neighbouring fibre, then it lifts to a line bundle L_1 on the first order thickening $X_1 \subset Y$. This is where hypothesis (ii) in Theorem 3 is used. Next using hypothesis (i), we show that the first chern class of L_1 lifts to the first chern class $c_1(\mathcal{L})$ of a line bundle \mathcal{L} on Y . Moreover our proof of the INLT is a consequence of the general theory of obstruction classes and deformation theory developed in §2 for arbitrary rank bundles.

The first algebraic proof of the Noether-Lefschetz theorem was Hodge-theoretic, based on the theory of infinitesimal variations of Hodge structures introduced by Griffiths (see [3]). The theory was greatly developed by Green (see [7, 8]) and Voisin in an unpublished article as well as in [19, 20]. Related results may also be found in [13] and [2].

2. ACKNOWLEDGEMENTS

This article is based on a part of the Ph.D thesis submitted by the second author at the Indian Institute of Science, Bangalore. He would like to acknowledge the support of the department for the duration of his Ph.D. The authors would like to thank A.P.Rao for providing us with the spectral sequence in Proposition 2 which provided impetus to this work and for subsequent discussions. We would also like to thank Jaya Iyer and Claire Voisin for agreeing to be the examiners of this thesis and providing us with useful comments and suggestions. The first author acknowledges partial support by grant #207893 from the Simons Foundation.

3. SOME RESULTS ON DEFORMATION THEORY AND OBSTRUCTION CLASSES FOR BUNDLES

3.1. Notation and set-up. Let Y be a smooth, projective variety over an algebraically closed field of characteristic 0 of dimension $n+1$. Let $\mathcal{O}_Y(1)$ be an ample line bundle, and assume that, for a positive integer d , $V \subset H^0(Y, \mathcal{O}_Y(d))$ is a base point free linear system. Let $S \subset \mathbb{P}(V^*)$ denote a Zariski open set parametrising smooth hypersurfaces, $\mathcal{X} := \{(y, s) | s(y) = 0\} \subset Y \times S$ denote the universal hypersurface, and $p : \mathcal{X} \rightarrow Y$, and $q : \mathcal{X} \rightarrow S$ denote the two projections. For a point $s_0 \in S$, let $\mathfrak{m} \subset \mathcal{O}_S$ denote its (maximal) ideal sheaf and let $X \subset Y$ be the smooth hypersurface parametrized by $s_0 \in S$.

Let X_k be the k -th infinitesimal neighbourhood of X in Y : so if X is the zero locus of a section $s_0 \in H^0(Y, \mathcal{O}_Y(d))$, then X_k is the zero locus of the section $s_0^{k+1} \in H^0(Y, \mathcal{O}_Y((k+1)d))$. We will let \widehat{Y} denote the formal completion of Y along X . Similarly, let $\mathcal{X}_k := \mathcal{X} \times_S \mathcal{O}_S/\mathfrak{m}^{k+1}$ be the k -th order infinitesimal neighbourhood of $X = \mathcal{X}_s$ in \mathcal{X} . Note that since $\mathcal{X}_0 \rightarrow X_0 = X$ is an isomorphism, we have an inclusion of ideals $\mathcal{I}\mathcal{O}_{\mathcal{X}} \subset \mathfrak{m}\mathcal{O}_{\mathcal{X}}$ where $\mathcal{I} \cong \mathcal{O}_Y(-d)$ is the ideal sheaf of X in Y . This implies that there is a morphism of schemes $p_k : \mathcal{X}_k \rightarrow X_k \forall k \geq 0$, compatible with the morphism $p : \mathcal{X} \rightarrow Y$, and with the isomorphism $\mathcal{X}_0 \rightarrow X_0 = X$.

By a *1-step resolution* of a sheaf E on a projective scheme T , we shall mean a sequence

$$0 \rightarrow F_1 \rightarrow F_0 \rightarrow E \rightarrow 0,$$

where $F_0 := \bigoplus_{i=1}^r \mathcal{O}_T(a_i)$ is a sum of line bundles such that the map $F_0 \rightarrow E$ is given by a set of generators of the graded module $\bigoplus H^0(T, E \otimes \mathcal{O}_T(\nu))$. In particular, the map at the level of global sections

$$H^0(T, F_0(\nu)) \rightarrow H^0(T, E(\nu))$$

is a surjection for all $\nu \in \mathbb{Z}$, and the sheaf F_1 is the kernel of the map $F_0 \rightarrow E$. Furthermore, if $H^1(T, F_0(\nu)) = 0$ for all $\nu \in \mathbb{Z}$, then $H^1(T, F_1(\nu)) = 0$ for all $\nu \in \mathbb{Z}$.

For any sheaf \mathcal{F} on Y , we will let $\overline{\mathcal{F}}$ denote its restriction to X .

3.2. The basic spectral sequence. Let E be a bundle on X_{k-1} . Any lift of E to a coherent sheaf \mathcal{E} on X_k , is an element of $\text{Ext}_{X_k}^1(E, \overline{E}(-kd))$ i.e., \mathcal{E} sits in an exact sequence of \mathcal{O}_{X_k} -sheaves

$$(2) \quad 0 \rightarrow \overline{E}(-kd) \rightarrow \mathcal{E} \rightarrow E \rightarrow 0.$$

It is a standard fact from deformation theory, that *the obstruction for E to lift to a coherent sheaf on X_k* is an element

$$\eta_E \in \mathbb{H}^2(X, \mathcal{E}nd \overline{E}(-kd)).$$

Similarly, if E is a bundle on \mathcal{X}_{k-1} , then any lift of E to a coherent sheaf \mathcal{E} on \mathcal{X}_k is an element of $\text{Ext}_{\mathcal{X}_k}^1(E, \overline{E} \otimes S^k V^*)$ i.e., the lift \mathcal{E} sits in an exact sequence of $\mathcal{O}_{\mathcal{X}_k}$ -sheaves

$$(3) \quad 0 \rightarrow \overline{E} \otimes S^k V^* \rightarrow \mathcal{E} \rightarrow E \rightarrow 0.$$

Here we have used the identification of the ideal sheaf of $\mathcal{X}_{k-1} \subset \mathcal{X}_k$:

$$\mathcal{I}_{\mathcal{X}_{k-1}/\mathcal{X}_k} \cong S^k V^* \otimes \mathcal{O}_X.$$

It is a standard fact from deformation theory, that *the obstruction for E to lift to a coherent sheaf on \mathcal{X}_k* is an element

$$\eta_E \in \mathbb{H}^2(X, \mathcal{E}nd \overline{E} \otimes S^k V^*).$$

The following *local criterion for flatness* (Proposition 2.2, [10]) tells us that such lifts are in fact vector bundles on X_k and \mathcal{X}_k respectively.

Proposition 1. *Let $A' \rightarrow A$ be a surjective homomorphism of noetherian rings whose kernel J has square zero. Then an A' -module M' is flat over A' if and only if*

- (1) $M := M' \otimes_{A'} A'$ is flat over A , and
- (2) The natural map $M \otimes_A J \rightarrow M'$ is injective.

The following result is due to A.P.Rao.

Proposition 2. *Let A be a bundle on X_{k-1} and \overline{B} be a bundle on X .*

- (i) *Then there is an exact sequence*

$$0 \rightarrow \mathbb{H}^1(X, \overline{A}^\vee \otimes \overline{B}(-kd)) \rightarrow \text{Ext}_{X_k}^1(A, \overline{B}(-kd)) \rightarrow \mathbb{H}^0(X, \overline{A}^\vee \otimes \overline{B}) \rightarrow \mathbb{H}^2(\overline{A}^\vee \otimes \overline{B}(-kd)).$$

- (ii) *If A lifts to a bundle \mathcal{A} on X_k , then*

$$0 \rightarrow \mathbb{H}^1(X, \overline{A}^\vee \otimes \overline{B}(-kd)) \rightarrow \text{Ext}_{X_k}^1(A, \overline{B}(-kd)) \rightarrow \mathbb{H}^0(X, \overline{A}^\vee \otimes \overline{B}) \rightarrow 0$$

forms a split exact sequence.

Proof. (i) By the local-to-global *Ext* spectral sequence, we have a 4-term sequence

$$(4) \quad 0 \rightarrow \mathbb{H}^1(X, \mathcal{H}om_{X_k}(A, \overline{B}(-kd))) \rightarrow \text{Ext}_{X_k}^1(A, \overline{B}(-kd)) \rightarrow \mathbb{H}^0(X, \mathcal{E}xt_{X_k}^1(A, \overline{B}(-kd))) \rightarrow \mathbb{H}^2(X, \mathcal{H}om_{X_k}(A, \overline{B}(-kd))).$$

Since $\mathcal{H}om_{X_k}(A, \overline{B}(-kd)) \cong \overline{A}^\vee \otimes \overline{B}(-kd)$, it is enough to prove

$$\mathcal{E}xt_{X_k}^1(A, \overline{B}(-kd)) \cong \overline{A}^\vee \otimes \overline{B}.$$

The inclusion $X_{k-1} \subset X_k$ yields an exact sequence

$$(5) \quad 0 \rightarrow \mathcal{O}_X(-kd) \rightarrow \mathcal{O}_{X_k} \rightarrow \mathcal{O}_{X_{k-1}} \rightarrow 0.$$

We will first compute $\mathcal{E}xt_{X_k}^1(\mathcal{O}_{X_{k-1}}(-a), F)$ for any bundle F on X . To do this, we tensor (5) by $\mathcal{O}_{X_k}(-a)$ and apply $\mathcal{H}om_{X_k}(-, F)$ to get a long exact sequence

$$0 \rightarrow \mathcal{H}om_{X_k}(\mathcal{O}_{X_{k-1}}(-a), F) \rightarrow \mathcal{H}om_{X_k}(\mathcal{O}_{X_k}(-a), F) \rightarrow \mathcal{H}om_{X_k}(\mathcal{O}_X(-a-kd), F) \rightarrow \mathcal{E}xt_{X_k}^1(\mathcal{O}_{X_{k-1}}(-a), F) \rightarrow 0$$

The first two terms are isomorphic to $F(a)$, and the third term is isomorphic to $F(a+kd)$. Thus we see that

$$(6) \quad \mathcal{E}xt_{X_k}^1(\mathcal{O}_{X_{k-1}}(-a), F) \cong F(a+kd).$$

Next, we consider a 1-step resolution of A on X_{k-1} :

$$(7) \quad 0 \rightarrow G \rightarrow L_0 \rightarrow A \rightarrow 0,$$

Tensoring this sequence by $\mathcal{H}om_{X_k}(-, \bar{B}(-kd))$, we get a long exact sequence

$$(8) \quad \begin{aligned} 0 \rightarrow \mathcal{H}om_{X_k}(A, \bar{B}(-kd)) &\rightarrow \mathcal{H}om_{X_k}(L_0, \bar{B}(-kd)) \rightarrow \mathcal{H}om_{X_k}(G, \bar{B}(-kd)) \rightarrow \\ \mathcal{E}xt_{X_k}^1(A, \bar{B}(-kd)) &\rightarrow \mathcal{E}xt_{X_k}^1(L_0, \bar{B}(-kd)) \rightarrow \mathcal{E}xt_{X_k}^1(G, \bar{B}(-kd)) \rightarrow \end{aligned}$$

Now the first three terms form the exact sequence

$$(9) \quad 0 \rightarrow \bar{A}^\vee \otimes \bar{B}(-kd) \rightarrow \bar{L}_0^\vee \otimes \bar{B}(-kd) \rightarrow \bar{G}^\vee \otimes \bar{B}(-kd) \rightarrow 0.$$

Hence we have an exact sequence

$$(10) \quad 0 \rightarrow \mathcal{E}xt_{X_k}^1(A, \bar{B}(-kd)) \rightarrow \mathcal{E}xt_{X_k}^1(L_0, \bar{B}(-kd)) \rightarrow \mathcal{E}xt_{X_k}^1(G, \bar{B}(-kd)).$$

where the middle term is isomorphic to $\bar{L}_0^\vee(kd) \otimes \bar{B}(-kd) = \bar{L}_0^\vee \otimes \bar{B}$ by (6).

We carry out the same steps for G by considering the following 1-step resolution on X_{k-1} :

$$(11) \quad 0 \rightarrow G' \rightarrow L_1 \rightarrow G \rightarrow 0.$$

In this case we get an exact sequence

$$(12) \quad 0 \rightarrow \mathcal{E}xt_{X_k}^1(G, \bar{B}(-kd)) \rightarrow \mathcal{E}xt_{X_k}^1(L_1, \bar{B}(-kd)) \cong \bar{L}_1^\vee \otimes \bar{B} \rightarrow \mathcal{E}xt_{X_k}^1(G', \bar{B}(-kd)).$$

From (10) and (12), we see that

$$(13) \quad \mathcal{E}xt_{X_k}^1(A, \bar{B}(-kd)) = \ker[\bar{L}_0^\vee \otimes \bar{B} \rightarrow \bar{L}_1^\vee \otimes \bar{B}].$$

On the other hand, the resolutions of A and G above when put together yield a sequence

$$L_1 \rightarrow L_0 \rightarrow A \rightarrow 0$$

which is a resolution for A on X_{k-1} . On applying the functor $\mathcal{H}om_{X_k}(-, \bar{B}(-kd))$ to this sequence we get

$$0 \rightarrow \bar{A}^\vee \otimes \bar{B} \rightarrow L_0^\vee \otimes \bar{B} \rightarrow L_1^\vee \otimes \bar{B}$$

Thus we have

$$(14) \quad \mathcal{E}xt_{X_k}^1(A, \bar{B}(-kd)) \cong \bar{A}^\vee \otimes \bar{B}.$$

(ii) Suppose A lifts to a bundle \mathcal{A} on X_k . Then we have an exact sequence of \mathcal{O}_{X_k} -sheaves

$$0 \rightarrow \bar{A}(-kd) \rightarrow \mathcal{A} \rightarrow A \rightarrow 0.$$

Applying $\mathcal{H}om_{X_k}(\cdot, \bar{B}(-kd))$ to the above sequence, we get a long exact sequence

$$(15) \quad \begin{aligned} 0 \rightarrow \mathcal{H}om_{X_k}(A, \bar{B}(-kd)) &\xrightarrow{\cong} \mathcal{H}om_{X_k}(\mathcal{A}, \bar{B}(-kd)) \rightarrow \mathcal{H}om_{X_k}(\bar{A}(-kd), \bar{B}(-kd)) \rightarrow \\ \text{Ext}_{X_k}^1(A, \bar{B}(-kd)) &\rightarrow \text{Ext}_{X_k}^1(\bar{A}(-kd), \bar{B}(-kd)) \rightarrow \dots \end{aligned}$$

The last three terms yield an exact sequence

$$0 \rightarrow H^0(X, \bar{A}^\vee \otimes \bar{B}) \rightarrow \text{Ext}_{X_k}^1(A, \bar{B}(-kd)) \rightarrow H^1(X, \bar{A}^\vee \otimes \bar{B}).$$

It is easy to check that either of the two maps in the sequence above, provide a splitting to the spectral sequence in (i). □

Remark 1. The map

$$\text{Ext}_{X_k}^1(A, \bar{B}(-kd)) \rightarrow H^0(X, \bar{A}^\vee \otimes \bar{B})$$

in the above exact sequence can be described as follows: Let

$$0 \rightarrow \bar{B}(-kd) \rightarrow \mathcal{C} \rightarrow A \rightarrow 0$$

be a sequence of \mathcal{O}_{X_k} -modules. On restricting it to X , we get

$$\text{Tor}_{X_k}^1(A, \mathcal{O}_X) \rightarrow \bar{B}(-kd) \rightarrow \mathcal{C} \otimes \mathcal{O}_X \rightarrow \bar{A} \rightarrow 0.$$

Since $\text{Tor}_{X_k}^1(A, \mathcal{O}_X) \cong \bar{A}(-kd)$, the map $\bar{A}(-kd) \rightarrow \bar{B}(-kd)$ gives an element in $H^0(X, \bar{A}^\vee \otimes \bar{B})$. Furthermore, if this map is the zero map, then we see that

$$0 \rightarrow \bar{B}(-kd) \rightarrow \mathcal{C} \otimes \mathcal{O}_X \rightarrow \bar{A} \rightarrow 0$$

is an exact sequence of \mathcal{O}_X -modules, and hence we get an element in $\text{Ext}_X^1(A, \bar{B}(-kd)) \cong H^1(X, \bar{A}^\vee \otimes \bar{B}(-kd))$.

3.3. An explicit description of η_E via projective resolutions. Let $X \subset Y$ be as above and E be a bundle on X_{k-1} for some $k \geq 1$. Let

$$(16) \quad 0 \rightarrow \tilde{F}_1 \xrightarrow{\Phi} \tilde{F}_0 \rightarrow E \rightarrow 0$$

be a 1-step resolution of E on Y .

On restricting this to X_{k-1} , we get the following 4-term sequence

$$(17) \quad 0 \rightarrow \text{Tor}_{\mathcal{O}_Y}^1(E, \mathcal{O}_{X_{k-1}}) \rightarrow F_1 \rightarrow F_0 \rightarrow E \rightarrow 0,$$

where $F_i := \tilde{F}_i \otimes \mathcal{O}_{X_{k-1}}$ for $i = 1, 2$.

The first term can be computed from the short exact sequence

$$0 \rightarrow \mathcal{O}_Y(-kd) \rightarrow \mathcal{O}_Y \rightarrow \mathcal{O}_{X_{k-1}} \rightarrow 0,$$

by tensoring with E . Doing so, yields a sequence

$$0 \rightarrow \text{Tor}_{\mathcal{O}_Y}^1(E, \mathcal{O}_{X_{k-1}}) \rightarrow E(-kd) \rightarrow E \rightarrow E \rightarrow 0.$$

Hence we have an isomorphism

$$\text{Tor}_{\mathcal{O}_Y}^1(E, \mathcal{O}_{X_{k-1}}) \cong E(-kd).$$

Thus (17) is the *sequence of vector bundles* on X_{k-1}

$$(18) \quad 0 \rightarrow E(-kd) \rightarrow F_1 \rightarrow F_0 \rightarrow E \rightarrow 0.$$

This 4-term sequence defines an element

$$(19) \quad \tilde{\eta}_E \in H^2(X_{k-1}, \mathcal{E}nd E(-kd)).$$

Breaking this up, we get the following two short exact sequences of bundles on X_{k-1} :

$$(20) \quad 0 \rightarrow E(-kd) \rightarrow F_1 \rightarrow G \rightarrow 0.$$

$$(21) \quad 0 \rightarrow G \rightarrow F_0 \rightarrow E \rightarrow 0.$$

We will also need their dual sequences:

$$(22) \quad 0 \rightarrow G^\vee \rightarrow F_1^\vee \rightarrow E^\vee(kd) \rightarrow 0.$$

$$(23) \quad 0 \rightarrow E^\vee \rightarrow F_0^\vee \rightarrow G^\vee \rightarrow 0.$$

The following two results will come in handy later.

Lemma 1. *There is an exact sequence*

$$(24) \quad 0 \rightarrow \widetilde{F}_0(-kd) \rightarrow \widetilde{F}_1 \rightarrow G \rightarrow 0.$$

Proof. Let $\widetilde{F}_0(-kd) \hookrightarrow \widetilde{F}_0$ be multiplication by the section $s_0^k \in H^0(Y, \mathcal{O}_Y(kd))$. Clearly this map factors via \widetilde{F}_1 and has G as its cokernel. \square

Corollary 1. *The boundary map $H^0(X, \overline{G}(\nu)) \rightarrow H^1(X, \overline{E}(\nu - kd))$ in the cohomology sequence associated to (20) is the zero map $\forall \nu \in \mathbb{Z}$, provided that we have $H^1(X, \mathcal{O}_X(\nu)) = 0$ for all $\nu \in \mathbb{Z}$.*

Proof. It is enough to show that the map $H^0(X, \overline{F}_1(\nu)) \rightarrow H^0(X, \overline{G}(\nu))$ is surjective $\forall \nu \in \mathbb{Z}$. But from the cohomology sequence of (24), we see that the map $H^0(X, \widetilde{F}_1(\nu)) \rightarrow H^0(X, \overline{G}(\nu))$ is surjective $\forall \nu \in \mathbb{Z}$. This map factors via $H^0(X, \overline{F}_1(\nu))$ and so we are done. \square

We recall some general facts from homological algebra.

- (a) The short exact sequences (21) and (20) give two elements,
 - (i) $\alpha \in \text{Ext}_{\mathcal{O}_X}^1(E, G) \cong H^1(X, E^\vee \otimes G)$, and
 - (ii) $\beta \in \text{Ext}_{\mathcal{O}_X}^1(G, E(-kd)) \cong H^1(X, G^\vee \otimes E(-kd))$.
- (b) Via the Yoneda correspondence, the 4-term sequence (18) on restriction to X , yields an element

$$\bar{\eta}_E \in H^2(X, \mathcal{E}nd \overline{E}(-d)).$$

- (c) Consider the composite maps

$$\begin{aligned} H^0(X, \mathcal{E}nd E) &\xrightarrow{\partial_1} H^1(X, G \otimes E^\vee) \xrightarrow{\partial_2} H^2(X, (\mathcal{E}nd E)(-kd)), \text{ and} \\ H^0(X, \mathcal{E}nd E) &\xrightarrow{\partial_2^\vee} H^1(X, G^\vee \otimes E(-kd)) \xrightarrow{\partial_1^\vee} H^2(X, (\mathcal{E}nd E)(-kd)) \end{aligned}$$

Here ∂_1 and ∂_2 are the (co)boundary maps in the long exact sequences of cohomology associated to (21) and (20) respectively, and ∂_1^\vee and ∂_2^\vee are the (co)boundary maps in the long exact sequences of cohomology associated to the dual sequences (23) and (22) respectively. If $1 \in H^0(X, \mathcal{E}nd \overline{E})$ denotes the identity endomorphism $id : \overline{E} \rightarrow \overline{E}$, then one has

$$\partial_1(1) = \alpha, \quad \partial_2(\alpha) = \bar{\eta}_E, \quad \partial_2^\vee(1) = \beta, \quad \text{and} \quad \partial_1^\vee(\beta) = \bar{\eta}_E.$$

The following result gives a more explicit way of checking when the obstruction class $\bar{\eta}_E$ vanishes.

Proposition 3. *Let $1 \in H^0(X, \mathcal{E}nd \overline{E})$ denote the identity endomorphism $id : \overline{E} \rightarrow \overline{E}$. Then one has*

$$\bar{\eta}_E = 0 \iff \partial_1^\vee(\partial_2^\vee(1)) = \partial_2(\partial_1(1)) = 0.$$

Proof. (\implies) Suppose that $\bar{\eta}_E = 0$. This is equivalent to saying that E lifts to X_k i.e. there exists a sequence of \mathcal{O}_{X_k} -modules

$$(25) \quad 0 \rightarrow \overline{E}(-kd) \rightarrow \mathcal{E} \rightarrow E \rightarrow 0,$$

The surjection in the above sequence, together with (16), gives rise to a pull-back diagram

$$(26) \quad \begin{array}{ccccccc} & & & 0 & & 0 & \\ & & & \downarrow & & \downarrow & \\ & & & \overline{E}(-kd) & = & \overline{E}(-kd) & \\ & & & \downarrow & & \downarrow & \\ 0 & \rightarrow & \widetilde{F}_1 & \rightarrow & \widetilde{P} & \rightarrow & \mathcal{E} & \rightarrow & 0 \\ & & \parallel & & \downarrow & & \downarrow & & \\ 0 & \rightarrow & \widetilde{F}_1 & \rightarrow & \widetilde{F}_0 & \rightarrow & E & \rightarrow & 0 \\ & & & & \downarrow & & \downarrow & & \\ & & & & 0 & & 0 & & \end{array}$$

Restricting the above diagram to X , we get

$$(27) \quad \begin{array}{ccccccccccc} & & & & & & \downarrow & = & \downarrow & & \\ & & & & & & \overline{E}(-kd) & = & \overline{E}(-kd) & & \\ & & & & & & \downarrow & & \downarrow^0 & & \\ \rightarrow & \text{Tor}_{\mathcal{O}_X}^1(\mathcal{E}, \mathcal{O}_X) = \overline{E}(-(k+1)d) & \rightarrow & \overline{F}_1 & \rightarrow & \overline{P} & \rightarrow & \overline{E} & \rightarrow & 0 & \\ & \downarrow & & \swarrow & & \downarrow & & \downarrow & & & \\ 0 & \rightarrow & \overline{E}(-kd) & \rightarrow & \overline{F}_1 & \rightarrow & \overline{F}_0 & \rightarrow & \overline{E} & \rightarrow & 0 \\ & & & & \downarrow & & \downarrow & & \downarrow & & \\ & & & & 0 & & 0 & & 0 & & \end{array}$$

Since the leftmost vertical map is the zero map, we get a commutative diagram

$$(28) \quad \begin{array}{ccccccc} & & & 0 & & 0 & \\ & & & \downarrow & & \downarrow & \\ & & & \overline{E}(-kd) & = & \overline{E}(-kd) & \\ & & & \downarrow & & \downarrow & \\ 0 & \rightarrow & \overline{F}_1 & \rightarrow & \overline{P} & \rightarrow & \overline{E} & \rightarrow & 0 \\ & & \downarrow & & \downarrow & & \parallel & & \\ 0 & \rightarrow & \overline{G} & \rightarrow & \overline{F}_0 & \rightarrow & \overline{E} & \rightarrow & 0 \\ & & \downarrow & & \downarrow & & \downarrow & & \\ & & 0 & & 0 & & 0 & & \end{array}$$

The first two columns imply that

$$(29) \quad \beta = [0 \rightarrow \overline{E}(-kd) \rightarrow \overline{F}_1 \rightarrow \overline{G} \rightarrow 0] \in \text{Image} \left(\text{H}^1(X, \overline{F}_0^\vee \otimes \overline{E}(-kd)) \rightarrow \text{H}^1(X, \overline{G}^\vee \otimes \overline{E}(-kd)) \right) \\ \parallel \\ \text{Ker} \left(\text{H}^1(X, \overline{G}^\vee \otimes \overline{E}(-kd)) \xrightarrow{\partial_1^\vee} \text{H}^2(X, \overline{E}^\vee \otimes \overline{E}(-kd)) \right)$$

Thus we have $\partial_1^\vee(\partial_2^\vee(1)) = \partial_1^\vee(\beta) = 0$.

Similarly, the middle and the bottom rows imply that

$$(30) \quad \alpha = [0 \rightarrow \overline{G} \rightarrow \overline{F}_0 \rightarrow \overline{E} \rightarrow 0] \in \text{Image} \left(\text{H}^1(X, \overline{E}^\vee \otimes \overline{F}_1) \rightarrow \text{H}^1(X, \overline{E}^\vee \otimes \overline{G}) \right) \\ \parallel \\ \text{Ker} \left(\text{H}^1(X, \overline{E}^\vee \otimes \overline{G}) \xrightarrow{\partial_2} \text{H}^2(X, \overline{E}^\vee \otimes \overline{E}(-kd)) \right)$$

Thus we have $\partial_2(\partial_1(1)) = \partial_2(\alpha) = 0$.

(\Leftarrow) We next prove the converse. So assume that $\partial_2(\partial_1(1)) = 0 = \partial_1^\vee(\partial_2^\vee(1))$. We shall show that E lifts to X_k . Now $\partial_2(\partial_1(1)) = 0$ implies that

$$\partial_1(1) \in \text{Ker} \left(\text{H}^1(X, \overline{E}^\vee \otimes \overline{G}) \xrightarrow{\partial_2} \text{H}^2(X, \overline{E}^\vee \otimes \overline{E}(-kd)) \right) = \text{Im} \left(\text{H}^1(X, \overline{E}^\vee \otimes \overline{F}_1) \rightarrow \text{H}^1(X, \overline{E}^\vee \otimes \overline{G}) \right).$$

Hence there exists a push-forward diagram

$$(31) \quad \begin{array}{ccccccc} & & 0 & & 0 & & \\ & & \downarrow & & \downarrow & & \\ & & \overline{E}(-kd) & = & \overline{E}(-kd) & & \\ & & \downarrow & & \downarrow & & \\ 0 & \rightarrow & \overline{F}_1 & \rightarrow & \overline{P} & \rightarrow & \overline{E} \rightarrow 0 \\ & & \downarrow & & \downarrow & & \parallel \\ 0 & \rightarrow & \overline{G} & \rightarrow & \overline{F}_0 & \rightarrow & \overline{E} \rightarrow 0 \\ & & \downarrow & & \downarrow & & \downarrow \\ & & 0 & & 0 & & 0 \end{array}$$

As before, notice that the first two columns imply that $\partial_2^\vee(\partial_1^\vee(1)) = 0$.

Using the middle column, we obtain a pull-back diagram

$$(32) \quad \begin{array}{ccccccc} 0 & \rightarrow & \overline{E}(-kd) & \rightarrow & \tilde{P} & \rightarrow & \tilde{F}_0 \rightarrow 0 \\ & & \parallel & & \downarrow & & \downarrow \\ 0 & \rightarrow & \overline{E}(-kd) & \rightarrow & \overline{P} & \rightarrow & \overline{F}_0 \rightarrow 0 \end{array}$$

Let $\Phi : \tilde{F}_1 \rightarrow \tilde{F}_0$ be the map in (16) and $\phi : \overline{F}_1 \rightarrow \overline{F}_0$ denote its restriction to X . We claim that Φ factors as $\tilde{F}_1 \rightarrow \tilde{P} \rightarrow \tilde{F}_0$. To see this, we apply the functor $\text{Hom}_Y(\tilde{F}_1, \cdot)$ to (32), to get a commutative diagram

$$(33) \quad \begin{array}{ccccc} \text{H}^0(Y, \tilde{F}_1^\vee \otimes \tilde{P}) & \rightarrow & \text{H}^0(Y, \tilde{F}_1^\vee \otimes \tilde{F}_0) & \rightarrow & \text{H}^1(Y, \tilde{F}_1^\vee \otimes \overline{E}(-kd)) \\ \downarrow & & \downarrow & & \parallel \\ \text{H}^0(X, \tilde{F}_1^\vee \otimes \overline{P}) & \rightarrow & \text{H}^0(X, \tilde{F}_1^\vee \otimes \overline{F}_0) & \rightarrow & \text{H}^1(Y, \tilde{F}_1^\vee \otimes \overline{E}(-kd)) \end{array}$$

Under the composite (of the middle vertical arrow followed by the right arrow in the bottom row)

$$\text{H}^0(Y, \tilde{F}_1^\vee \otimes \tilde{F}_0) \rightarrow \text{H}^0(X, \tilde{F}_1^\vee \otimes \overline{F}_0) \rightarrow \text{H}^1(Y, \tilde{F}_1^\vee \otimes \overline{E}(-kd)),$$

we are given that $\Phi \mapsto \phi \mapsto 0$: this is because from (31), we see that the map $\phi : \overline{F}_1 \rightarrow \overline{F}_0$ factors as $\overline{F}_1 \rightarrow \overline{P} \rightarrow \overline{F}_0$; this implies that in (33), we have

$$\phi \in \text{Image} \left(\text{H}^0(X, \tilde{F}_1^\vee \otimes \overline{P}) \rightarrow \text{H}^0(X, \tilde{F}_1^\vee \otimes \overline{F}_0) \right),$$

and hence $\Phi \mapsto 0$ in the top row which proves our claim. Thus we have a diagram

$$(34) \quad \begin{array}{ccccccc} & & 0 & & 0 & & \\ & & \downarrow & & \downarrow & & \\ & & \overline{E}(-kd) & = & \overline{E}(-kd) & & \\ & & \downarrow & & \downarrow & & \\ 0 & \rightarrow & \tilde{F}_1 & \rightarrow & \tilde{P} & \rightarrow & \mathcal{E} \rightarrow 0 \\ & & \parallel & & \downarrow & & \downarrow \\ 0 & \rightarrow & \overline{F}_1 & \rightarrow & \overline{F}_0 & \rightarrow & E \rightarrow 0 \\ & & & & \downarrow & & \downarrow \\ & & & & 0 & & 0 \end{array}$$

where \mathcal{E} , in the rightmost column, is defined so that the diagram has exact rows and columns.

On restricting the right most column to X_{k-1} , we get

$$\dots \rightarrow \text{Tor}_{\mathcal{O}_Y}^1(E, \mathcal{O}_{X_{k-1}}) = E(-kd) \rightarrow \overline{E}(-kd) \rightarrow \mathcal{E} \otimes \mathcal{O}_{X_{k-1}} \rightarrow E \rightarrow 0.$$

Since the map $E(-kd) \rightarrow \overline{E}(-kd)$ is a surjection, we see that $\mathcal{E} \otimes \mathcal{O}_{X_{k-1}} \cong E$. The fact that \mathcal{E} is a bundle on X_k follows from the *local criterion for flatness* stated in Proposition 1. \square

Remark 2. For our purposes, we may (and do) assume that the map

$$H^0(X, \mathcal{E}nd \overline{E}) \rightarrow H^2(X, \mathcal{E}nd \overline{E}(-kd))$$

in the spectral sequence in Proposition 2 is the map $\partial_1 \circ \partial_2 = \partial_2^\vee \circ \partial_1^\vee$ and that $1 \mapsto \bar{\eta}_E = \eta_E$.

Remark 3. One can also define the obstruction class η_E via its *Atiyah class*. Let

$$\mathfrak{a}_E \in H^1(X_{k-1}, \Omega_{X_{k-1}}^1 \otimes \mathcal{E}nd E)$$

denote the *Atiyah class* of E and consider the cotangent sheaf sequence for the inclusion $X_{k-1} \subset Y$:

$$0 \rightarrow \mathcal{O}_X(-kd) \xrightarrow{d(s_0^k)} \Omega_Y^1 \otimes \mathcal{O}_{X_{k-1}} \rightarrow \Omega_{X_{k-1}}^1 \rightarrow 0.$$

Tensoring this sequence by $\mathcal{E}nd E$ and taking cohomology, we get a boundary map

$$H^1(X_{k-1}, \Omega_{X_{k-1}}^1 \otimes \mathcal{E}nd E) \rightarrow H^2(X, \mathcal{E}nd E(-kd)).$$

By a result in [11], $\mathfrak{a}_E \mapsto \eta_E$ under this map.

4. PROOFS OF THE MAIN THEOREM

4.1. Grothendieck-Lefschetz theory. We first recall the *Lefschetz conditions* of Grothendieck (see [9]).

Definition 1. Let Y be a scheme and $X \subset Y$ be a subscheme. Let $\widehat{}$ denote the completion of Y along X . We say that the pair (Y, X) satisfies the *Lefschetz condition*, written $\text{Lef}(Y, X)$, if for every open set $U \subset Y$, and every vector bundle \mathcal{E} on U , there exists an open set U' with $X \subset U' \subset U$ such that the natural map

$$H^0(U', \mathcal{E}|_{U'}) \rightarrow H^0(\widehat{Y}, \widehat{\mathcal{E}})$$

is an isomorphism.

Definition 2. Let Y be a scheme and $X \subset Y$ be a subscheme. Let $\widehat{}$ denote the completion of Y along X . We say that the pair (Y, X) satisfies the *effective Lefschetz condition*, written $\text{Leff}(Y, X)$, if $\text{Lef}(Y, X)$ is satisfied, and in addition, for every formal vector bundle \mathfrak{E} on \widehat{Y} , there exists an open set $U \supset X$, and a vector bundle \mathcal{E} on U , such that $\widehat{\mathcal{E}} \cong \mathfrak{E}$.

Theorem 4 (Grothendieck, [9]). *Let Y be a smooth, projective variety and X be a smooth, ample hyperplane section of Y . Then $\text{Leff}(Y, X)$ holds.*

Proof of Theorem 1. The vanishing of $H^2(X, \mathcal{E}nd E \otimes \mathcal{O}_Y(-kX)|_X)$ for all $k \in \mathbb{Z}_{>0}$, implies that E extends to a bundle E_k on each thickening X_k . Thus we get a formal vector bundle $\widehat{E} := \varprojlim_k E_k$ on \widehat{Y} . By $\text{Leff}(Y, X)$, we are done. \square

Proof of Theorem 2. We first make a remark about the hypothesis that E is a bundle on a general, hyperplane section of Y . By this we mean that if $\mathcal{X} \rightarrow S$ is the universal family of hypersurfaces in Y , then there exists an open set $S' \subset S$, and a bundle $\mathcal{E} \rightarrow \mathcal{X} \times_S S'$, flat over S' , such that for $s \in S'$, if $\mathcal{X}_s = X$, we have $\mathcal{E}_s \cong E$. Suppose that we have succeeded in extending E to a bundle E_{k-1} on X_{k-1} . Then one has a commutative diagram of 4-term exact sequences (35)

$$\begin{array}{ccccccc} 0 & \rightarrow & H^1(X, (\mathcal{E}nd E)(-kd)) & \rightarrow & \text{Ext}_{X_k}^1(E_{k-1}, E(-kd)) & \rightarrow & H^0(X, \mathcal{E}nd E) & \rightarrow & H^2(X, (\mathcal{E}nd E)(-kd)). \\ & & \downarrow & & \downarrow & & \downarrow & & \downarrow \\ 0 & \rightarrow & H^1(X, \mathcal{E}nd E) \otimes S^k V^* & \rightarrow & \text{Ext}_{X_k}^1(E_{k-1}, E \otimes S^k V^*) & \rightarrow & H^0(X, (\mathcal{E}nd E)(kd)) \otimes S^k V^* & \rightarrow & H^2(X, \mathcal{E}nd E) \otimes S^k V^*. \end{array}$$

Here both the rows are a consequence of the exact sequence from Proposition 2 (i), (the top row is obtained by taking $A = E_{k-1}$ and $\bar{B} = E$, and the bottom row is obtained by taking $A = E_{k-1}$ and $\bar{B} = E(kd) \otimes S^k V^*$). The vertical maps between the various cohomology groups are induced by the dual of the evaluation map $\mathcal{O}_X(-d) \rightarrow V^* \otimes \mathcal{O}_X$ and its symmetric powers.

To show that the bundle E lifts to X_k , we need to show that $1 \mapsto \eta_{E_{k-1}} = 0$ under the map

$$H^0(X, \mathcal{E}nd E) \rightarrow H^2(X, (\mathcal{E}nd E)(-kd))$$

in the top row of (35).

Since E lives on a general hypersurface, this implies that $\eta_{\mathcal{E}_i} = 0$ for all $i \geq 0$ where $\mathcal{E}_i := \mathcal{E} \otimes \mathcal{O}_{\mathcal{X}_i}$. Consider the exact sequence

$$0 \rightarrow E \otimes S^k V^* \rightarrow \mathcal{E}_k \rightarrow \mathcal{E}_{k-1} \rightarrow 0.$$

Applying the push-forward functor Rp_* for the projection map $p : \mathcal{X} \rightarrow X$, we get the short exact sequence

$$(36) \quad \theta_k : 0 \rightarrow E \otimes S^k V^* \rightarrow p_*(\mathcal{E}_k) \rightarrow p_*(\mathcal{E}_{k-1}) \rightarrow 0.$$

We first claim that there are maps $E_i \rightarrow p_*\mathcal{E}_i$ for $0 \leq i \leq k-1$. The proof is by induction on i . When $i = 0$, this is just the isomorphism $E \cong \mathcal{E} \otimes \mathcal{O}_X$. So assume that there is a map $E_{k-2} \rightarrow p_*\mathcal{E}_{k-2}$.

The pull-back diagram

$$\begin{array}{ccccccc} 0 & \rightarrow & E \otimes S^{k-1} V^* & \rightarrow & E_{k-1} & \rightarrow & E_{k-2} & \rightarrow & 0 \\ & & \parallel & & \downarrow & & \downarrow & & \\ 0 & \rightarrow & E \otimes S^{k-1} V^* & \rightarrow & p_*\mathcal{E}_{k-1} & \rightarrow & p_*\mathcal{E}_{k-2} & \rightarrow & 0. \end{array}$$

yields the desired map $E_{k-1} \rightarrow p_*\mathcal{E}_{k-1}$, and taking the pull-back of the sequence (36) under this map yields an element $\theta'_k \in Ext_{X_k}^1(E_{k-1}, E \otimes S^k V^*)$.

Since $1 \in H^0(X, \mathcal{E}nd E)$ and θ'_k map to the same element in $H^0(Y, (\mathcal{E}nd E)(kd)) \otimes S^k V^*$ in diagram (35), by the commutativity of the diagram, we see that $1 \mapsto 0$ under the composition

$$H^0(X, \mathcal{E}nd(E)) \rightarrow H^2(X, \mathcal{E}nd E(-kd)) \rightarrow H^2(X, \mathcal{E}nd E) \otimes S^k V^*.$$

Condition (1) is equivalent, by Serre duality, to the injectivity of the map

$$H^2(X, (\mathcal{E}nd E)(-kd)) \rightarrow H^2(X, (\mathcal{E}nd E)(kd)) \otimes S^k V^*,$$

which implies that

$$1 \in \text{Image} [\text{Ext}_{X_k}^1(E_{k-1}, E(-kd)) \rightarrow H^0(X, \mathcal{E}nd E)].$$

Thus we see that the bundle E extends to a bundle E_k to the thickening X_k . Set \widehat{E} to be the inverse limit of E_k 's before. Then \widehat{E} is the extension of E to the completion Y and so by the *effective Lefschetz condition* of Grothendieck, extends to a reflexive sheaf \widetilde{E} whose singular locus is a finite set of points in the complement of X in Y . □

5. THE NOETHER-LEFSCHETZ THEOREM REVISITED

5.1. The infinitesimal Noether-Lefschetz theorem. Let Y be a smooth, projective 3-fold and $\mathcal{O}_Y(1)$ be an ample line bundle defining a base point free linear system V . Let $X \subset Y$ be a smooth member of this linear system. We will further assume that the line bundle $\mathcal{O}_Y(1)$ satisfies the following *positivity* conditions.

(P1) The multiplication map

$$H^0(Y, \mathcal{O}_Y(d)) \otimes H^0(Y, K_Y(d)) \rightarrow H^0(Y, K_Y(2d))$$

is surjective.

(P2) The map

$$H^2(Y, \Omega_Y^1 \otimes \mathcal{O}_Y(-d)) \rightarrow H^2(Y, \Omega_Y^1)$$

is an inclusion.

(P3) $H^1(Y, K_Y(d)) = 0$.

Remark 4. By the adjunction formula, we have $K_Y \otimes \mathcal{O}_X(d) = K_X$; and thus an exact sequence

$$0 \rightarrow K_Y \otimes \mathcal{O}_Y(d) \rightarrow K_Y \otimes \mathcal{O}_Y(2d) \rightarrow K_X \otimes \mathcal{O}_X(d) \rightarrow 0.$$

Consider the following diagram where the vertical maps are restriction maps:

$$\begin{array}{ccc} H^0(Y, \mathcal{O}_Y(d)) \otimes H^0(Y, K_Y(d)) & \rightarrow & H^0(Y, K_Y(2d)) \\ \downarrow & & \downarrow \\ H^0(X, \mathcal{O}_X(d)) \otimes H^0(X, K_Y(d) \otimes \mathcal{O}_X) & \rightarrow & H^0(Y, K_Y(2d) \otimes \mathcal{O}_X) \end{array}$$

By (P3) above, the vertical map on the right is surjective. This together with (P1) implies that the map in the bottom row is also surjective.

Theorem 5 (The infinitesimal Noether-Lefschetz theorem). *With hypothesis as above,*

$$\text{Image}[\text{Pic}(\mathcal{X}_1) \rightarrow \text{Pic}(X)] = \text{Image}[\text{Pic}(Y) \rightarrow \text{Pic}(X)].$$

Proof. Recall that for any smooth projective variety V , we have the *exponential* short exact sequence

$$0 \rightarrow \mathbb{Z} \rightarrow \mathcal{O}_V \rightarrow \mathcal{O}_V^* \rightarrow 0.$$

On taking cohomology, we get a map $\text{Pic}(V) \rightarrow H^2(V, \mathbb{Z})$, which associates to a line bundle A , its first Chern class $c_1(A) \in H^2(V, \mathbb{Z})$.

We need to prove that if $A \in \text{Pic}(X)$ extends to a line bundle $\mathcal{A} \in \text{Pic}(\mathcal{X}_1)$, then under the hypothesis of the theorem, A is the restriction of a line bundle on Y . We will consider three cases:

Case (i): $c_1(A) = 0$ i.e. $L \in \text{Pic}^0(X)$. In this case, by the Weak Lefschetz theorem, we have $\text{Pic}^0(Y) \cong \text{Pic}^0(X)$, and so A is the restriction of a line bundle from Y .

Case (ii): $c_1(A)$ is a *non-zero torsion* element. In this case, one argues as follows: first, consider the exact sequence

$$0 \rightarrow \mathbb{Z} \xrightarrow{\times m} \mathbb{Z} \rightarrow \mathbb{Z}/m\mathbb{Z} \rightarrow 0.$$

Taking cohomology, we get a commutative diagram of long exact sequences for X and Y :

$$\begin{array}{ccccccc} H^1(Y, \mathbb{Z}) & \xrightarrow{\times m} & H^1(Y, \mathbb{Z}) & \rightarrow & H^1(Y, \mathbb{Z}/m\mathbb{Z}) & \rightarrow & H^2(Y, \mathbb{Z}) & \xrightarrow{\times m} & H^2(Y, \mathbb{Z}) \\ \downarrow & & \downarrow & & \downarrow \cong & & \downarrow & & \downarrow \\ H^1(X, \mathbb{Z}) & \xrightarrow{\times m} & H^1(X, \mathbb{Z}) & \rightarrow & H^1(X, \mathbb{Z}/m\mathbb{Z}) & \rightarrow & H^2(X, \mathbb{Z}) & \xrightarrow{\times m} & H^2(X, \mathbb{Z}) \end{array}$$

Now if $m \cdot c_1(A) = 0$, then this implies that

$$c_1(A) \in \text{Image}[H^1(X, \mathbb{Z}/m\mathbb{Z}) \rightarrow H^2(X, \mathbb{Z})].$$

Now by the Weak Lefschetz theorem for finite coefficients, we have

$$H^1(Y, \mathbb{Z}/m\mathbb{Z}) \cong H^1(X, \mathbb{Z}/m\mathbb{Z}).$$

Let c be the lift of $c_1(A)$ in $H^1(Y, \mathbb{Z}/m\mathbb{Z})$; then c maps to a non-zero torsion element $\tilde{c} \in H^2(Y, \mathbb{Z})$. Consider the following diagram :

$$\begin{array}{ccccccc} H^1(Y, \mathcal{O}_Y) & \rightarrow & \text{Pic}(Y) & \rightarrow & H^2(Y, \mathbb{Z}) & \rightarrow & H^2(Y, \mathcal{O}_Y) \\ \downarrow & & \downarrow & & \downarrow & & \downarrow \\ H^1(X, \mathcal{O}_X) & \rightarrow & \text{Pic}(X) & \rightarrow & H^2(X, \mathbb{Z}) & \rightarrow & H^2(X, \mathcal{O}_X) \end{array}$$

Here the rows are the long exact sequences associated to the exponential sequences for Y and X , and the vertical arrows are restriction maps. From the top row, we see that $\tilde{c} = c_1(\tilde{A})$ for some $\tilde{A} \in \text{Pic}(Y)$; this is because $H^2(Y, \mathcal{O}_Y)$ is a \mathbb{C} -vector space and so $\tilde{c} \mapsto 0$ under the map $H^2(Y, \mathbb{Z}) \rightarrow H^2(Y, \mathcal{O}_Y)$. By the commutativity of the diagram, we see that $c_1(\tilde{A} \otimes \mathcal{O}_X) = c_1(A) \in H^2(X, \mathbb{Z})$. This means that $\tilde{A} \otimes \mathcal{O}_X = A \otimes C$ for some line bundle $C \in \text{Pic}^0(X)$. Since C has a unique lift \tilde{C} on Y , we see that $A \cong \tilde{A} \otimes \tilde{C}^{-1} \otimes \mathcal{O}_X$. Hence we are done.

Case (iii): $A \in \text{Pic}^0(X)$ and $c_1(A)$ is non-zero and non-torsion. In this case, one sees that

$$c_1(A) \in H^{1,1}(X) \cap H^2(X, \mathbb{Z}).$$

We need to prove that if A lifts to a line bundle \mathcal{A} on \mathcal{X}_1 , then A is the restriction of a bundle on Y . This is done by in two steps:

Step 1. $\text{Image}[\text{Pic}(\mathcal{X}_1) \rightarrow \text{Pic}(X)] = \text{Image}[\text{Pic}(X_1) \rightarrow \text{Pic}(X)]$.

Step 2. $\text{Image}[\text{Pic}(X_1) \rightarrow \text{Pic}(X)] = \text{Image}[\text{Pic}(Y) \rightarrow \text{Pic}(X)]$.

Proof of Step 1: Let $\mathcal{A} \mapsto A$ under the map $\text{Pic}(\mathcal{X}_1) \rightarrow \text{Pic}(X)$; then we have an exact sequence of $\mathcal{O}_{\mathcal{X}_1}$ -sheaves:

$$0 \rightarrow A \otimes V^* \rightarrow \mathcal{A} \rightarrow A \rightarrow 0,$$

and hence an element of $\text{Ext}_{\mathcal{X}_1}^1(A, A \otimes V^*)$.

Let $p_1 : \mathcal{X}_1 \rightarrow X_1$ be the natural map (recall that it restricts to an isomorphism $p : \mathcal{X}_0 \xrightarrow{=} X_0 := X$); applying $p_{1,*}$ to the exact sequence above, we get an exact sequence of \mathcal{O}_{X_1} -sheaves

$$0 \rightarrow A \otimes V^* \rightarrow p_{1,*}\mathcal{A} \rightarrow A \rightarrow 0,$$

and hence an element $\text{Ext}_{X_1}^1(A, A \otimes V^*)$.

As in the proof of Theorem 2 before, we start with the commutative diagram (35) applied in the case where $E = A$ is a line bundle:

$$\begin{array}{ccccccc} 0 & \rightarrow & H^1(X, \mathcal{O}_X(-d)) & \rightarrow & \text{Ext}_{X_1}^1(A, A(-d)) & \rightarrow & H^0(X, \mathcal{O}_X) & \rightarrow & H^2(Y, \mathcal{O}_X(-d)) \\ & & \downarrow & & \downarrow & & \downarrow & & \downarrow \\ 0 & \rightarrow & H^1(X, \mathcal{O}_X) \otimes V^* & \rightarrow & \text{Ext}_{X_1}^1(A, A \otimes V^*) & \rightarrow & H^0(X, \mathcal{O}_X(d)) \otimes V^* & \rightarrow & H^2(X, \mathcal{O}_X) \otimes V^*. \end{array}$$

The fact that A lifts to \mathcal{X}_1 implies that the $1 \mapsto 0$ under the ‘‘diagonal’’ map

$$H^0(X, \mathcal{O}_X) \rightarrow H^2(X, \mathcal{O}_X) \otimes V^*.$$

The vertical map

$$H^2(X, \mathcal{O}_X(-d)) \rightarrow H^2(X, \mathcal{O}_X) \otimes V^*$$

is injective since its dual is surjective by condition (1) (and Remark 4). This in turn implies that

$$1 \in \text{Ker}[H^0(X, \mathcal{O}_X) \rightarrow H^2(X, \mathcal{O}_X(-d))].$$

Thus we see that A lifts a line bundle A_1 on X_1 .

Proof of Step 2: We let $c_1(A_1) \in H^1(X_1, \Omega_{X_1}^1)$ denote the first Chern class of A_1 (see [15]). By functoriality, we note that under the natural restriction map

$$H^1(X_1, \Omega_{X_1}^1) \rightarrow H^1(X, \Omega_X^1), \quad c_1(A_1) \mapsto c_1(A).$$

This map in turn factors as

$$H^1(X_1, \Omega_{X_1}^1) \rightarrow H^1(X_1, \Omega_{X_1}^1 \otimes \mathcal{O}_X) \rightarrow H^1(X, \Omega_X^1).$$

Since $c_1(A) \neq 0$ by assumption, this in turn implies that, both $c_1(A_1)$ and its image in $H^1(X_1, \Omega_{X_1}^1 \otimes \mathcal{O}_X)$, are both non-zero.

Now consider the cotangent sheaf sequence for the inclusion $X_1 \subset Y$:

$$0 \rightarrow \mathcal{O}_Y(-2d) \xrightarrow{d(s^2)} \Omega_Y^1 \otimes \mathcal{O}_{X_1} \rightarrow \Omega_{X_1}^1 \rightarrow 0,$$

where $s \in H^0(Y, \mathcal{O}_Y(d))$ is the section whose zero locus is X . Since $d(s^2) = s.ds$, this means that when we restrict the above sequence to X , we get an isomorphism

$$\Omega_Y^1 \otimes \mathcal{O}_X \cong \Omega_{X_1}^1 \otimes \mathcal{O}_X,$$

which in turn induces an isomorphism

$$H^1(X, \Omega_Y^1 \otimes \mathcal{O}_X) \cong H^1(X, \Omega_{X_1}^1 \otimes \mathcal{O}_X).$$

Now consider the short exact sequence,

$$0 \rightarrow \Omega_Y^1 \otimes \mathcal{O}_Y(-d) \rightarrow \Omega_Y^1 \rightarrow \Omega_Y^1 \otimes \mathcal{O}_X \rightarrow 0.$$

On taking cohomology, we get a long exact sequence

$$H^1(Y, \Omega_Y^1) \rightarrow H^1(X, \Omega_Y^1 \otimes \mathcal{O}_X) \rightarrow H^2(Y, \Omega_Y^1 \otimes \mathcal{O}_Y(-d)) \rightarrow H^2(Y, \Omega_Y^1) \rightarrow \dots$$

From condition (3) above,

$$H^2(Y, \Omega_Y^1 \otimes \mathcal{O}_Y(-d)) \hookrightarrow H^2(Y, \Omega_Y^1),$$

and hence we obtain a surjection

$$H^1(Y, \Omega_Y^1) \twoheadrightarrow H^1(X, \Omega_Y^1 \otimes \mathcal{O}_X).$$

Thus we see that $c_1(A)$ lifts to $H^1(Y, \Omega_Y^1)$. It is not hard to see that in fact $c_1(A)$ lifts to an element in $H^{1,1}(Y) \cap H^2(Y, \mathbb{Z})$. By the Lefschetz (1, 1)-theorem, we see that this lift is $c_1(\tilde{A})$ for some line bundle \tilde{A} on Y .

We have the following diagram where the rows come from the exponential sequence and the vertical maps are restriction maps. The left most vertical map is an isomorphism while the right most vertical maps is an injection by the Weak Lefschetz theorem,

$$\begin{array}{ccccccc} 0 & \rightarrow & \text{Pic}^0(Y) & \rightarrow & \text{Pic}(Y) & \twoheadrightarrow & H^2(Y, \mathbb{Z}) \cap H^1(Y, \Omega_Y^1) \\ & & \downarrow & & \downarrow & & \downarrow \\ 0 & \rightarrow & \text{Pic}^0(X) & \rightarrow & \text{Pic}(X) & \twoheadrightarrow & H^2(X, \mathbb{Z}) \cap H^1(X, \Omega_X^1) \end{array}$$

By a diagram chase (as in Case (ii) above), we see that $A \cong \tilde{A} \otimes \tilde{C} \otimes \mathcal{O}_X$ for some $\tilde{C} \in \text{Pic}^0(Y)$. Thus we see that A lifts to a line bundle on Y . \square

5.2. A Noether-Lefschetz theorem for the divisor class group. Let Y be a normal, projective threefold and $\mathcal{O}_Y(d)$ be an ample line bundle defining a base point free linear system V . Let $X \subset Y$ be a general member of this linear system; by Bertini's theorem, X is normal. Let $\pi : \tilde{Y} \rightarrow Y$ be a desingularisation and let $\tilde{X} := \tilde{Y} \times_Y X$. Then \tilde{X} is a smooth member of the linear system π^*V , and $\pi : \tilde{X} \rightarrow X$ is a desingularisation. The following result was proved in [16].

Theorem 6. *With notation as above, let $f : Y \rightarrow \mathbb{P}^n$ be the map defined by the linear system V and, $g : \tilde{Y} \rightarrow \mathbb{P}^N$ denote the composite $\tilde{Y} \rightarrow Y \rightarrow \mathbb{P}^N$. If \hat{Y} denotes the formal scheme obtained by completing \tilde{Y} along \tilde{X} , then $\text{Pic}(\hat{Y}) \rightarrow \text{Pic}(\tilde{X})$ is injective, and there is an exact sequence*

$$0 \rightarrow A \rightarrow \text{Pic}(\hat{Y}) \rightarrow \text{Pic}(\tilde{X}) \rightarrow B \rightarrow 0$$

where

- (i) A is freely generated by irreducible g -exceptional divisors in \tilde{Y} which have 0-dimensional image.
- (ii) B is freely generated by the irreducible $g|_{\tilde{X}}$ -exceptional divisors in \tilde{X} , which have 0-dimensional image under g , modulo the group generated by the classes of exceptional divisors of the form $E \cdot \tilde{X}$, where E is an irreducible g -exceptional divisor on \tilde{Y} with $\dim g(E) = 1$.

Proof of Theorem 3. For any smooth member X of the linear system V , we let $\tilde{\mathcal{X}}_1$ denote its first order thickening in the universal family $\tilde{\mathcal{X}} \rightarrow S := \mathbb{P}(V)$. By theorem 5 (Hypotheses (i) and (ii) are conditions (P2) and (P1) respectively and (P3) is true by Kawamata-Viehweg vanishing theorem since $\mathcal{O}_Y(1)$ is *big and nef*), we have

$$\text{Image}[\text{Pic}(\tilde{\mathcal{X}}_1) \rightarrow \text{Pic}(\tilde{\mathcal{X}})] = \text{Image}[\text{Pic}(\tilde{Y}) \rightarrow \text{Pic}(\tilde{X})].$$

Let $K = K(S)$ be the function field of the parameter variety S , and \bar{K} be its algebraic closure. Let $\tilde{X}_{\bar{K}}$ and $\tilde{Y}_{\bar{K}}$ denote the base change of \tilde{X} and \tilde{Y} to \bar{K} respectively. By a standard spreading out argument (see [17], §3 for details), this means we have an exact sequence

$$0 \rightarrow A \rightarrow \text{Pic}(\tilde{Y}_{\bar{K}}) \rightarrow \text{Pic}(\tilde{X}_{\bar{K}}) \rightarrow B \rightarrow 0,$$

where A, B are as before (i.e., as in Theorem 6). Equivalently, for a *very general member* \tilde{X} of the linear system π^*V , there is an exact sequence

$$0 \rightarrow A \rightarrow \text{Pic}(\tilde{Y}) \rightarrow \text{Pic}(\tilde{X}) \rightarrow B \rightarrow 0.$$

For a normal projective variety V and a desingularisation $h : \tilde{V} \rightarrow V$, there is a natural isomorphism (see [16], §1 for a more detailed explanation)

$$\text{Cl}(V) \cong \frac{\text{Pic}(\tilde{V})}{(\text{subgroup generated by } h\text{-exceptional divisors)}.$$

Consequently, we have the following diagram, with exact rows and columns (see [16] for more details):

$$\begin{array}{ccccccccc} & & & 0 & & 0 & & & & & \\ & & & \downarrow & & \downarrow & & & & & \\ 0 & \rightarrow & A & \rightarrow & \mathbb{Z}[E_Y] & \rightarrow & \mathbb{Z}[E_X] & \rightarrow & B & \rightarrow & 0 \\ & & \parallel & & \downarrow & & \downarrow & & \parallel & & \\ 0 & \rightarrow & A & \rightarrow & \text{Pic}(\tilde{Y}) & \rightarrow & \text{Pic}(\tilde{X}) & \rightarrow & B & \rightarrow & 0 \\ & & & & \downarrow & & \downarrow & & & & \\ & & & & \text{Cl}(Y) & \rightarrow & \text{Cl}(X) & & & & \\ & & & & \downarrow & & \downarrow & & & & \\ & & & & 0 & & 0 & & & & \end{array}$$

Here $\mathbb{Z}[E_Y]$ and $\mathbb{Z}[E_X]$ are the subgroups in the respective Picard groups freely generated by the irreducible exceptional divisors in \tilde{Y} and \tilde{X} . By a simple diagram chase, we now conclude that $\text{Cl}(Y) \rightarrow \text{Cl}(X)$ is an isomorphism. \square

REFERENCES

- [1] Barth, W., Van de Ven, A., *A decomposability criterion for algebraic 2-bundles on projective spaces*, Invent. Math. 25 (1974), 91–106.
- [2] Brevik, John, Nollet, Scott, *Noether-Lefschetz theorem with base locus*, Int. Math. Res. Not. IMRN 2011, no. 6, 1220–1244.
- [3] Carlson, James, Green, Mark, Griffiths, Phillip, Harris, Joe, *Infinitesimal variations of Hodge structure. I*, Compositio Math. 50 (1983), no. 2-3, 109–205.
- [4] Deligne, P., Katz, N., *Séminaire de Géométrie Algébrique du Bois-Marie - 1967-1969. Groupes de monodromie en géométrie algébrique. II*, LNM 340, Springer-Verlag (1973)

- [5] Ellingsrud, Geir, Peskine, Christian, *Anneau de Gorenstein associé à un fibré inversible sur une surface de l'espace et lieu de Noether-Lefschetz*, Proceedings of the Indo-French Conference on Geometry (Bombay, 1989), 29–42, Hindustan Book Agency, Delhi, 1993
- [6] T. Fujita, *Vector Bundles on Ample Divisors*, J. Math. Soc. Japan, 33 (1981), no. 3, 405–414.
- [7] Green, Mark L., *A new proof of the explicit Noether-Lefschetz theorem*, J. Differential Geom. 27 (1988), no. 1, 155–159.
- [8] Green, Mark L., *Components of maximal dimension in the Noether-Lefschetz locus*, J. Differential Geom. 29 (1989), no. 2, 295–302.
- [9] Grothendieck, Alexander, *Cohomologie locale des faisceaux cohérents et théorèmes de Lefschetz locaux et globaux*, Advanced Studies in Pure Mathematics, Vol. 2. North-Holland Publishing Co., Amsterdam; Masson & Cie, Éditeur, Paris, 1968.
- [10] Hartshorne, R., *Deformation Theory*, Graduate Texts in Mathematics, No. 257, Springer, 2010.
- [11] Huybrechts, Daniel; Thomas, Richard P., *Deformation-obstruction theory for complexes via Atiyah and Kodaira-Spencer classes*, Math. Ann. 346 (2010), no. 3, 545–569.
- [12] Joshi, K., *A Noether-Lefschetz theorem and applications*, J. Algebraic Geom. 4 (1) (1995) 105–135.
- [13] Lopez, Angelo Felice, *Noether-Lefschetz theory and the Picard group of projective surfaces*, Mem. Amer. Math. Soc. 89 (1991), no. 438, x+100 pp.
- [14] Mohan Kumar, N., Srinivas, V., *The Noether-Lefschetz theorem*, Unpublished notes.
- [15] Mohan Kumar, N.; Rao, A. P.; Ravindra, G. V., *Hodge style Chern classes for vector bundles on schemes in characteristic zero*, Expository notes.
- [16] Ravindra, G. V., Srinivas, V., *The Grothendieck-Lefschetz theorem for normal projective varieties*, J. Algebraic Geom. 15 (2006), no. 3, 563–590
- [17] Ravindra, G. V., Srinivas, V., *The Noether-Lefschetz theorem for the divisor class group*, J. Algebra 322 (2009), no. 9, 3373–3391.
- [18] Sato, Ei-ichi, *On the decomposability of infinitely extendable vector bundles on projective spaces and Grassmann varieties*, J. Math. Kyoto Univ. 17 (1977), no. 1, 127–150.
- [19] Voisin, Claire, *Une précision concernant le théorème de Noether*, Math. Ann. 280 (1988), no. 4, 605–611.
- [20] Voisin, Claire, *Composantes de petite codimension du lieu de Noether-Lefschetz*, Comment. Math. Helv. 64 (1989), no. 4, 515–526.

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF MISSOURI – ST. LOUIS, ST. LOUIS, MO 63121, USA.

E-mail address: girivarur@umsl.edu

DEPARTMENT OF MATHEMATICS, INDIAN INSTITUTE OF SCIENCE, BANGALORE, 560 012, INDIA.

E-mail address: atripathi@math.iisc.ernet.in

CURRENT ADDRESS: THEORETICAL STATISTICS AND MATHEMATICS UNIT, INDIAN STATISTICAL INSTITUTE, BANGALORE, 560 059, INDIA.

E-mail address: amittr@gmail.com